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(iv) TUE & - Fo7 G&IT 1 & 3 T 37fd TG-FT0T JHR & o7 &, F4P To7 2 371 H7
g/
(v) U & - J97 T&IT 4 G-3RI J97 & 571 13 3 3711 #71 & |/
(vi) TS T— ¥ TG&IT 5 37 6 TY-ITHIT PR & J97 &, Fd% 97 3 3% HT & |
(vii) TUE T— Y97 G847 7 8 9 % FH-F19 THR & J97 &, o9 Jo7 5 bl #1 & |
(viii) TUE &F— Jo7 T&IT 10 HIFI=7-3TEMRT F97 & 1 13 5 371 H1 & /
(ix) Io7-97 7 B3 GII [dHc9 761 & | §TAli, F& Jo491 7 Al [aeheq 1T TTE | 37
JHR & Y991 § @ a7 Tk &1 fdeheq HT I oaT |
QUg h
(31T &g-3T" TR & Uv)
Yt 3ol & I T | 3x2=6
1. YA I A e A9 qen S0 U9 SR 6l Siie U9 § e % flt SIeh
R I IE ThaT ? T8 T | 1+1=2
2. fafamtor ufsean <hi foredl @1 femiwarasti <hi samean i | I1x2=2
3. (%) Tovra SR 3R @ WeR H gl T TR HINT | 1x2=2
JrraT
(@) TEIR A FE13AT H a1 TR T I | 1x2=2
EiE
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General Instructions :

Read the following instructions very carefully and strictly follow them :

(i) This questions paper contains 10 questions.

(it)  All questions are compulsory.

(tit)  This question paper is divided into five sections — Section A, B, C, D and E.

(iv) Section A - Questions no. 1 to 3 are Very Short-answer Type Questions,
carrying 2 marks each.

(v)  Section B — Question no. 4 is Source-based Question, carrying 3 marks.

(vi) Section C - Questions no. 5 and 6 are Short-answer Type Questions, carrying
3 marks each.

(vit) Section D — Questions no. 7 to 9 are Long-answer Type Questions, carrying
5 marks each.

(viii) Section E — Question no. 10 is Map-based Question, carrying 5 marks.

(ix)  There is no overall choice in the question paper. However, an internal choice
has been provided in some questions. Only one of the choices in such questions
has to be attempted.

SECTION A
(Very Short-answer Type Questions)

Attempt all questions. 3x2=6

1. Why has the Indian Railways launched an extensive programme to
convert metre and narrow gauges to broad gauge ? Explain. 1+1=2

2. Explain any two features of manufacturing process. I1x2=2

3. (a) Differentiate between Departmental stores and Chain stores

stating two differences. I1x2=2
OR
(b)  Differentiate between Telecommunication and Services stating two
differences. 1x2=2
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(HTa-SATeTRa 79 ) 3x1=3

frefafaa &ra =1 ufeu R fou 1w wedi & 3w fafaw .

TETA I

WRATT &9 ¥ ¢ Thishd 38U 3T 61 feufq =l AT o &id o GHig & &
8 @l ANE-3TT%h, HiFal, BN Td TH1-9eeR ATEH | 3qaisd &l Sl &l Al
g UH TM W Wi 31afed 8 "ehdl @ T8l el Wi SEHT 8§ Ig=r S Heh
ST U o T | 9] B 399 @M et i 3R yeTeH 9 7em B
i Tafedfd o ToTT e W <hl Y& STAR 1 THG BT Tfeh Wewaqul il

8 Fifch Thed AT o &Y § Wl g1g SR § 39cTed gl Al 8 | WHrTd &9 &

ARt SEUT T Iculed farTe Tufed Gal gl & fomam Sram o w31« B

TEATd G FS8 Shaol T Ufshan — seurd fmior gran 2, 31feres o o @ |
(4.1) & THIha SEUTA & hi AT Sl THIFAT i It TT@ I

oo i | 1

(4.2) B THTM HREHI hl TATAT o I 37freh Hewaqul =1 3 2 1

(4.3) B T HREHT T YIH H= O T Ieol@ i | 1

Qus 1

(19T ThR o T9) 2x3=6

T &7 o TR STSTRI hl SIS <hl W iU | 1x3=3
(%) “dimn " wed UH vl sgHEl T sifieewmr 7 17 38 wed

gfte HifT | 1x3=3

AYAT
(@) ‘O TS TEMT IR o it shl SATET hifaT | 1x3=3
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SECTION B
(Source-based Question) 3x1=3
Read the following source and answer the questions that follow :
Steel Industry
The large integrated steel industry is traditionally located close to the
sources of raw materials — iron-ore, coal, manganese and limestone — or
at places where these could be easily brought, e.g., near ports. But in
mini steel mills, access to markets is more important than inputs. These
are less expensive to build and operate and can be located near markets
because of the abundance of scrap metal, which is the main input.
Traditionally, most of the steel was produced at large integrated plants,
but mini mills are limited to just one-step process — steel making — and
are gaining ground.
(4.1) Mention the main factor affecting location of large integrated steel
industry. 1
(4.2) What is more important for setting up the mini steel mills ? 1
(4.3) Mention the raw material used in mini steel mills. 1
SECTION C
(Short-answer Type Questions) 2%x3=6
Examine the activities of periodic markets of rural areas. I1x3=3
(a)  “Border Roads Organisation is a premier multifaceted construction
agency.” Support the statement. I1x3=3
OR
(b)  Explain the functions of the ‘National Highway Authority of
India’. 1x3=3
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“Tea Jamrt faga &1 Tcafes 9 § AR S a1l 3Tdieh JIaEnt 2 |7 39
STATHT o &t ol HoToh iU | 1x5=5

(%) “Fedi g3 SHEEA HR IR foFdror o HRO, I Ayl
ST ¥ S hl et # fiREe st 3 17 389 Hed w1 faveiwm

SIS | Ix5=5
arerat
(@) “Fu-arg 4 W oG H1 SRV had HHd TAqedd & Tal, I Hh)
Tl | ST ot $HhT HROT 7 |7 39 B I fawermor FHifu | Ix5=5
@1 Ut &7 TRt HRIhA ok fohral UId SevAl I ToReiNUT ShiTT | 1x5=5
wus &
(wrfor-smenfia v)

aRa % fqu MU UoHifoe W@aEEE (98 11 W) § fefaRied & @ gl
gier iifels A&l o1 3uh Faal gra sifehd ShIfTe iR 37 9 foafaw :  5x1=5

(10.1) fosr ¥ feq aasny" @

(10.2) Wdgl —did 6l @M

(10.3) el — SfwTEe hl @H

(10.4) ufvaw st § oo st 6 @
(10.5) Yd-9fT=m TR T GfE=H SAfaH TIH
(10.6) ‘wafvi Igds’ & Jor Fod qoff ‘HER
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SECTION D
(Long-answer Type Questions) 3Ix5=15
“The Rhine Waterway is the world’s most heavily used inland waterway.”
Assess the significance of this waterway. Ix5=5
(a)  “Indiscriminate use of water by increasing population and
industrial expansion has led to degradation of the quality of water
considerably.” Analyse the statement. Ix5=5
OR
(b)  “The pressure on agricultural land increases not only due to the
limited availability, but also by deterioration of quality of
agricultural land.” Analyse the statement. Ix5=5
Analyse any five objectives of ‘Drought Prone Area Development
Programme’. Ix5=5
SECTION E
(Map-based Question)
On the given political outline map of India (on page 11), locate and label
any five from the following geographical features with appropriate
symbols : 5x1=5

(10.1) Oil refinery located in Bihar

(10.2) Khetri — Copper mines

(10.3) Katni — Bauxite mines

(10.4) Coal mines located in West Bengal
(10.5) Western Terminal of East-West Corridor

(10.6) Eastern-most ‘metropolitan’ city connected by ‘Golden
Quadrilateral’
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FHETITRGT 597 et GIRaTaa qagmaal & 7g 397 §&47 10 & €& T
& | fbgT giw Io7] & I G197 :

(10.1)

(10.2)

(10.3)

(10.4)

(10.5)

(10.6)

fogr ¥ foog dosnes srE™ &1 9m fafiay |

FrEve 4 feuq foret ues T <1 A forfige Sgt dfe h @« foua 2 )

34 U9 &1 A1 fafau gt et iedrge 6 @ ferd 2 |

ufyem sel o fedrd e @i & am fafee |
ga-afvem Mfem < afgerft Sifom weem w1 am fofew |
‘Wt =gys’ ¥ I g¢ 98 el T 1 AW faien | 5x1=5
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Note :

[
The following questions are for the Visually Impaired Candidates
only, in lieu of Q. No. 10. Attempt any five questions :

(10.1) Name the oil refinery located in Bihar.

(10.2) Name any one place in Jharkhand where copper mines are

located.

(10.3) Name the State where Katni bauxite mines are located.

(10.4) Name the coal mines located in West Bengal.

(10.5) Name the western terminal of East-West Corridor.

(10.6) Name the eastern-most ‘metropolitan’ city connected by ‘Golden

Quadrilateral’. 5x1=5
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For question no. 10
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